" 1. Find the exact values of :
,dn&=75 5 the six trigonometric . x=6
e _ 3 functions of 6. 10
o= \p -~ =
&m@.__g =4 2. lf sinf = -- find the exact values of the five ﬂ-:l g
3 remaining trigonometric function values of 6. !
(Sep= 2 . =
1 3. Write —150° in radians as a multiple of . _j. v . _sr
Sec &= ) g o
3 4. Solve AABC if A=33° b =9,and ¢c = 13.
t o= % Round side lengths to the nearest tenth and C ;.;w.qumsa
angle measures to the nearest degree. a L ‘-—-f.s
(5671 " 3
c 13t=F3%9% 233X
fane= 1, 5. Find the exact value of sin [(tan"’(-~1 )]  esc
. . 13 V2 7 343 = ~131. 9 (05 C
fee- ?g A "'"" O’"’“’“‘ c ‘““é“" ) D Y -0.26Y4 ' o5 C
< = B_E N ("" = “Li. c‘ los®
e © Z
L ANSWERS
ot es =i 1. sinex%,@osﬁw mnf}...%,cscew%
‘ '
% secl = §» coté = ....
_ 13
coto = %—2«-
- .. 4. B=42°,C=105°,a=73 £
6 t
Chapter 5 Glencoe Precaloulus E’

Homework Questions: Page 311 (1-17 odd)

Unit 5 Page 2




Then

You found trigonometric values using the unit circle.
(Lesson 4-3)

Now/

* Identify and use basic trigonometric identities to find
trigonometric values.

+ Use basic trigonometric identities to simplify and
rewrite trigonometric expressions.

Review

| KeyConcept Reciprocal and Quotient Identiti

Reciprocal Identities Quotient Identities
. 1 1 _siné
] I - o —cos@
cscG::m seco-wso cot 6 v cot @ oy
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You Try: ” =5
Ifsecd = = findsin 4.
Y
(056 (% y i ‘Sm6=%
e
D
(cos 6, sin 0) 4y Can you write the Pythagorean theorem using

1 \ sine and cosine? % NLEY 2
X . (SO +in*6 = |
v

Could you transform this equation to Tangent and Secant?

OO +9n*6=)
@56 o ©°6

| +tan’©= O
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Could you transform this equation to Cotangent and Cosecant?

CQ)QLéfFSmié' J
SN amg SN

otie + | = ¢sc’é

|.KeyConcept Pythagorean Identities - »
| tan? 0+ 1= sec’ ¢ cot2 g+ 1=csc? 6

sin® @ +cos? 0 =1

SO UK Caun rewrite equahons

wWith $in, ces, ard fan becarre MHeit
art Cale— f evaluate.

Why do we need to know this?

Try to simplify this expression to equal tan 9.

cscdsecd —cot =

£ . L _ ls& toSe
Sne  Sé Sme&r mé

—  _(Cesto
SIné (o5& SmGcos&
I-Cos *6
JSingcosSe

Sin?lG E——u Romm S *6 4oy = {

Se——— ~ -

NG (56 0526 ~corzg
Sl ?é = /- -,

Siné6 er ¢

cuse fan e

You Try: Simplify to sin or cos.

secx —tanxsinx

[ sine
= .S/ng
w6 wse

|=-snie
ws e
ws° 6
(oS¢

= (086
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KeyConcept Odd-Even Identities . |

i

8in (—@) = —sin 0 €08 (—0) = cos ¢ tan (—6) = —~tan @

0S¢ (—8) = —csc 0 e (~0) = sec cot (—8) = —cot &

R ST P "

Mide) s G Jan &

o&d Rnchon even Anchon odd funchon

odd : Ll-x)= ~£(x)
ouen . Rl-x)= F(x)

sin9=ms(g-me) tane-zcot(;‘ims) secezcsc~9)

oos():sﬁt(—’,:,—'—ﬁ) cot&::tan( -9) csceasec(-‘g-—e)

N
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If cosx = —0.75, find sin (x - g) :
sin[- (% -x))
~Sin ( -T‘?': -x)

- 0S(x)
- (-0.7%)
0.5

) Ee(auk $in 1S oddl

If tanx = 1.28, find cot -7).
ot [-(T-xY)
~ot ( Z-x)
- tan (X))
— (L28) = —1.28

\) becavse cot 15 odd
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2xcosx — sin(g- — x)

Simplify: sin
SMX (0§ = WS %
(oS X (Sin*x -1
0 X (- cos 2x)

-cos 3x

Simplify: cos xtanx — sinxcos?x

Sy ‘
s L glpetei - S X (oS X
osX

St X~ Sin x oS Tx
sin x( 1-cos?x)
SN x (s102x)
s> (x)
Assignment: page 317 (1-31 odd)

*Start memorizing these identities!!!

(0S*x +s1n2x = |
SWx ~) = ~(o8 Tx

(0Sx+Sintx = )
Swly = J-(o5x




